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General Instructions :

(i) All questions are compulsory.
(ii) The question paper consists of 31 questions divided into five sections A, B, C, D and

E. Scclion-A comprises of 4 questions of 1 mark each, Section-B comprises of 6
queslions of 2 marks cach, Section-C comprises of § questions of 3 marks each and
Seclion-D comprises of 10 questions of 4 marks each. Section E comprises of two
i questions of 3 marks each and 1 question of 4 marks from Open Text theme.

’ (i)  There is no overall choice.
' (iv)  Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each.

' ABCD @ WIR gy € forwes et 12 em? #1 af ABCD W1 U fa@i BD §, @ ar 1
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ABCD is a parallelogram with area as 12 em2. If BD is one of the diagonals of ABCD, find ar

| (AABD).
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| If the inner radius of a spherical shell is r and its outer radius is R, then find its volume
J :
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The mean of the set of numbers 6, 3. X, 4,3,5and yis given as 5. What Is the value of x+y 7

. & e Hmr 7 Rt
4 -3 § - 11,12 -15,16 = 19, e # e -3 qﬁ ol o
Find the upper limit of the first class - interval in class - intervals

§-11,12-15,16-19, ......e
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Question numbers 5 to 10 carry two marks each.

WXYZ T iR S & ol XpAwWZ 3l ZQLWX ® | gz WX =8 cm, XP=8 cm 3R ZQ=2 2
em &, €1 YX T i

3 5.

7 3

W Q% X
' WXYZ is a parallelogram with XPLWZ and ZQLWX. If WX=8 cm,

' XP=8 emand ZQ=2 em, find YX.
! Zz Y
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6.
i Construct a triangle whose sides are in the ratio 1 : 3 : 5 and whose perimeter is 18 cm.

] ot
7. | auFha W, ABCD T @ ¥ 941 X SiR Y T Wi AD 3K BC W fag 36 WK fead & i 2
| AY=BX &1 SIS 6 ZABX=ZBAY %1

I D G
1 XE | :;: %
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&
In the figure, ABCD is a rectangle and X and Y are points on sides AD i
| such that AY=BX. Show that ZABX= ZBAY. P _ ides AD and BC respectively

L
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1500 famdlies were surveyed and followlng data was recorded aboul their malds at homes :

— ———— e e

Types of [ Only part ﬂnllym full - | Part time and full | None
s e e time

Noas,  of | B6O 370 250 N T
malde

A-lmnlly in l;-'lwl Iq-;q‘l i;-l“rn‘:u'lun-l, i=i|'ir.il“|"l'i;'-_;{f.ila}iia'il"s_iy_lﬁat the lmnlly Humutl has :
(0)  Dotlutypes of malds
(b)  haa part - tind maid
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nry'of 10 members of a group is T 1,445, one more member whog,

he monthl sal
T 4 he group. Find the mean monthly salary of 11 membry 2

ronthly salary is ¥ 1,500 has joined t
f the group. e

o Rl g it fie g Prafafen st a forg w aran Wil gy, foranf anf sfauer 4. 5 !

,8-11, TR :
, 11, 6, 8, 10, 20, 23, 14,19, 22,7, 11,10, 9,12,26,24,14,7, 8.
viake a frequency table of the following marks scored by 20

ntervals are 4-7, 8-11, and soon:
5, 11, 6, 8,10, 20, 23, 14, 19,22, 7,11, 10,9,12, 26,24, 14,7, 8.

students of a class, where class

o ’ ' 3
APOR # =11 QR 1 wea-faig X ¥ XM 3T XN gmsi‘ipqafnmmﬂmu‘f'&wﬁl afs \

pQ=PR &, & T & .ar (AQMX) = ar (ANXR) ®1
P M
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Q X R

InAPQR,Xisthenﬁd-pointonR.mmdmmpu-putdkuhulosldcsPandl’R
respecﬂvely.lfPQ-PR,showtlutnr(aQ!\D(} =ar (ANXR).

B 2t cp wE g9 F 2 wwin shand €, R =m AC Y g @i s AB=CD ¥ 3
AB and CD are two parallel chords of a circle whose diameter is AC, Prove that AB=CD.
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FRa) @ gaiEe fEe uh wa W 87 angles. Bisect them:

” ' yosite
m pQ and RS intersecting at point K, Measure a palr of vertically OPF
' Are the bisecting 1ays forming a straight line ? -

[4 A Z:B 1'
-aqr‘ﬁrﬂ ABCDQ“W % forai ABJ|CD & G91 AD=BC ¢ 3 | fag wifse fr £

/SN .

ABCDis a trapezium with AB||CD and AD=BC. Prove that

ln the figure,
ZA = £B.

ﬂ
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e SR & O W firer §1 3vig f5 3

- ZPOQ=90" %1
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|
|
]I In the parallelogram PQRS of the given figure, the bisectors of ZP and £Q meet SR at O. Show |

ithatiPOQ—?O“.
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| A metallic sphere is of radius 49 om If the density of the metal is-
22

.| 7.8 g/cm?, find the mass of the sphere. (= ?}

T gE 199 281 WO & 4 SF €L
i Question numbers 19 to 28 carry four marks each,
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Tollowing: a lecture on waste management, the school has decided to keep 2 dustbins in cach clasy

L one for biodegradable and other one far
i nnn-hlmh-umdabie waste of mentlaned dimensions as shown below :
e — L.=25cm
L=30cm
=3%0cm
S h=60em
h=5em |——

fal Which bin requires less area ?
{h) Which bin has mare capacity ?

{c) Which value is depicted by the students ? (Use m= :;,—2 )

W ey A el 99 FRA & fIY 30 em %20 em %6 cm frmadi ar T & femd 9 & fag 4
sty T Bl weer =0 axfeenia & fag 3@ e 5% i mrE @ el T e A
M @ TR 2 11000 e &, 3500 7 3 Teadi @ free o smgi ?

Mano] Sweets placed an order of making 30 cmx20 em X 6 cm cardboard boxes for packing
their sweets. Tor all overlaps, 5% of total area is required extra. If cost of the cardboard is Rs.

"2 {or 1000 em2, find the cost of the card board used for making 500 boxes.
SR T 350 em @1 1200 oo 39 AR QAR @ M 90 & Q5 m <t T w4
" ifen?

' How many metres of 5 m wide cloth will be required to make a conical tent, the radius of
- whose base is 350 cm and height is 1200 cm ? -

@ dowm W@ F SR WY 21 m wa e wF 9w 3R soma w4
10 em 36 cm ¥ 1 70 TR T TR T WEHR T B SAEA T FA | H A G garsa o
| 3 R
'A hollow cylindrica)l iron pipe is 21 m long. Its outer and inner diameters are
| 10 em and 6 cm respectively. Find the volume of the iron used in making the pipe. Also find '
| the outer surface area of pipe. i
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(|50-75 |23

1175-100 [ 10

i 50
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age 9 of 10
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The given table shows the marks obtained by 50 students out of 100 in a hist
5 ()Iy ©xam jm-“-hg

| Marks obtained | No of students
0-7% 9 '
1 25-30 8
{50-75 23
L 75-100 10
| Total 50

A student is chosen at random,__

) W et i 7 o
ing marks, fi ili '
()  Find the pmbabilgil}' that the :ﬂ:]: et et
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